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(A) y = sin(2x+%) (B) y = sin(2x —%) (C)y= sin(2x+%) (D) y = sin(%x—%)
(E)y= sin(%x+%)

Ans : . (C)
e

o|N

I B . £, .. 7
y:smx:>y:sm2x:>y=sm(2x+€)=sm(2x+§)

2.( ) /3tan20° ++/3 tan10° + tan20°tan10° =

(A3 (B)-+3 (C)% D)1 (E)-1-
Ans : (D)
EJ@P? :
tan(20° +10°) = tan 20° + tan10° 1 tan 20° + tan10°

- — =
1-tan20°-tan10° ~ /3 1-tan20°-tan10°
3 tan 20° + /3 tan10° = 1— tan 20°- tan10°
V3 tan20° ++/3 tan10° + tan20°tan10° = 1

3.( ) l%f(x) = 2sin(30° - x) — 2cosx » —60° <x <210° > ¥ f(x)7t x = o HL | fifi M
T ox= B AL ] m o NPT 2 ()
(AM=2 (B)a=210° (C)m=-2 (D)p=60° (E)M-m=4

Ans : (B)(C)(D)

AT

f(x) = 2sin(30° — x) — 2cosx = 2sin30°cosx — 2c0s30°sinx — 2cosx
= — cosx —~/3 sinx = — 2(§sinx +% COSx)
= — 2(sinx cos30° + cosx sin30°) = — 2sin(x +30°)

o _30° <x+30°< 240°= —gs sin(x +30°) <1

sin(x+£)=—£ﬁf : M=—2x(—£)=\/§ > I o+ 30° = 240° = o = 210°
6 2 2
sin(x+g)=1ﬁaj »m=-2x1=-2 » [ p+30°=90°= = 60°
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1. I'Jx — cos40°F&f (x) = 3x — 4>V =1 1% °
Ans : 1
Ejé;f’? :

BRI fx — cosA0°F2/ (x) = 3x — 4x[IUER 1/ (c0s407)
£ (cos40°) = 3c0s40° — 4¢0s°40° = — (4c0s°40° — 3c0s40°)
= — €05(3%x40°) = — c0s120° = —( _%) =%

2. %sinoc:—§ < a<3—ﬁ J EJ[Jsing = o
f 5 2 2
3
Ans: —
10
Ejﬁ’?:
. 3 3 . 4
sSina=——»z7<a<— .. COSa=——
5 2 5
37 T a 3t . . o . a [l-cosa
T< a<— —<—< > . sin=>0 &' sin==
2 2 2 4 2 2 2
4

4
a J1(5 \/“5 \F 3
= SIn— = = = |—=—
2 2 2 10 410

3. %00329:% » 8in26< 0 - [l[tand+ cotd=

§
Ans : >
2
AT

00526:2 ) 5iN20< 0= 204757 = G4l > sin 2e=_g

1 B 1 B 2 __§
sin0-cosO %sinze sin20 2

tand+ cot@=

4. I%0"<9<90° > ='sing - cosezé RN D i

(1) secd + cscH=

@1
1+sin@ 1+ cosd

Ans: (1)2+2 (2)4-242
BT

P\”ET'EISIHH - cos@ :% ’ ﬁljsin20+ C082(9: 1> FF[;T?:FJ

= o
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(sin%0 + cos’d) + 2 sind cosf =1 + 2 - % < (sinf + cosb)’=2

[HE50°< 6 < 90° » frsing + cost =2

1 _S|n9+c059:\/§:2\5

(1) secé + csch = — = -
cosd sind cosdsind

N\H‘

(2)~ PHEESING + cosd =+/2 » sing - cosH:% )

. 1 N 1 (1+cos@)+(1+sind) 2+ (cosé +sin @)
Frl I+sing 1+cos@ (1+sin@)-(1+cosd) 1+ (cosé +sind)+cosd -sinb
2+\/§1:2(2+\/5):4_2\/§

1+\/5+E 34242

5. Ftana - tanftl 2% —dx +1=0p9= L5

2sin*(a+ f) — 4sin(a + Acos(a + f) + 4cos’(ar+ AV [l kh °
Ans : _2
17
AT

tano + tan g _4
l-tanatan g
2sin’(a + f) — 4sin(a+ H)cos(a + f) + 4cos*(a + f)

= cos?(a + f) [2tan’(ar + f) — 4tan(a + f) + 4]

tana+tanf=2 > tanatanﬂzé tan(a+ ) =

- Y tenda+p - stana+ B+ 4]
sec” (o +B)
= 21 (2x16—4x4+4):§
1+tan“(a + p) 17
6. c0s40°sin160° — sin220°c0s340° = » (1 + tan35°)(1 + tan10°) =
Ans : % ; 2

BT 1 FRFIE S
(1) cos40°sin160° — sin220°c0s340° = cos40°sin20° + sin40°cos20°

3

= 5in20°c0s40° + c0s20°sin40° = sin(20° + 40°) = sin60° =

(@) 35°+10°=45° . tan(35°+10°) = tandso— _ono> +anlo® _,
1-tan35°tan10°

= tan35° + tan10° = 1 — tan35°tan10°
= tan35° - tan10° + tan35° + tan10° =1
(1 +tan35°)(1 + tan10°) =1 + (tan35° - tan10° + tan35° + tan10°) =1+ 1=2
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7.9 [ TYABCDRUER L L0 (A B - CHUS R LS - ST Y[
- YORET
HEVIS Dps > Aopc™ Dok I D c
(TS DPB-ese Do T BT i £ . r
QTS 4gb + 73— 1 AB T B 9 £ : ¢
Va Va 3
Ans: (1)=—-1 (2)=—-— A B
02 03 1
EJ@P? :
- 1 > w1 V4
DFEREA =2(= - 12 22 1. 1)=2-
(D (2 > )2
Q)R :ﬁ C 1242 .7 1l 11 60" ):ﬁJrﬂ_ﬁ:ﬁ_ﬁ
4 2 3 2 3 4 3 2 3 4
D D
i 1
60
A 1 A 7 B
8.y = 3sinx — 4cosx ° ?.fl’x: a [Rf > yERS ﬁ*tan%: °
Ans : 3
Ejé;f’? :

y=3Sinx—4COSx=5(§Sinx —%cos)c) = 5sin(x — ¢) > El i cos¢:§ ’ sinqﬁ:ﬂ
F{l[ sinx—¢)=1> dJx— ¢=%+ 2nr > neZE\ﬂj ry Al S
V2 T 3
o= ¢+E+ 2nzw> neZ > tanoc=tan[¢+§+2nn]=—cot¢=—z
tang+tan% 2tan &

= tana= 2—:_%:

1—tanLtan 1-tan? <
2 2

I%t=tan%>0( 3=9+%+nnﬁ¢a‘j— 2 gL :;—i

2 2 1
— 37 _8-3=0, (3t+1)(t—3):0,t=—%,3 sotang-3
9. F%f(x)zzﬁ sin(x+%)—4sinx’ Fl
(1) f Co) 7 =l £ ° (2) f () V] il £ °
Ans : (1) 2 2)-2
T

£(x) = 2/3sin(x + %) — 4sinx
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= 2\/§(sinx cos% X + COSx sin%) — 4sinx

V3 1

= 2+/3 (sinx =, Hcosy o) —dsinx

5

= — sinx ++/3 cosx = — 2(sinx % - cosx

=—2sin(x — %)
i sin(x - %): 1 f ()i M =2

@ sin(e— ) =1Ff + SR [fim=-2

10. £ (x) = (sinx + cosx)? + 4(sinx + cosx) > [I[|

Q) f )L T flies o @) .
Ans : (1) 2 - 442 (2) 2 +4+/2
Ejé;f’? :

r.%t =Sinx + cosx > 4

1=+2 (% sinx +% cosx)=~/2 (sinxcos%+ cos)csin%):\/i sin(x +%)

i —1< sin(x +%) <L fir—J2<i<42

< £ (x) = (sinx + cosx)? + 4(sinx + cosx)
—P4hr=(t+2)%—4> HlI —J2<1<42

it = V2 £ () E R T 2+ 442

@ggz:—\/i G T 2 - 442

11 F0<x s% s £(x) = 2+ 2(sinx + cosx) — sin2x » FJsinx + cosx[ivasl G
B () =g E RS TEM 5 T = R TR m o B G - M) =
(2om=_____ =
Ans : 1<sinr+cosx<v2 ;  (x1> M)=(0-4) (% 4 (rom)=(0>1+2+2)
AT
(1)—?Jt:sinx+ cosx >

t=+2 (% sinx +% c03x)=\/§ (sinxcos%+ COSxSin%):\/ESin(x +%)

OSxS% ’ﬁrgssin(ﬁg)sl fplsi<y2

2

. . . S - -1
215t = sinx + cosxfi&T 1 > #Hsinxcosx = o
j 1E

< f(x) = 2 + 2(sinx + cosx) — 2sinx COSx
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() =2+2—(F-1)=-(-20+ 1)+ 4=~ (=1 + 4> Hfl1 1<r<y2
O iffr =15 - fﬁxzowx:% () E R 4

@it =2 Fx =" S@E R 14242

3 . sinxcosx .
12. B2 <x <0 SR EHES (x) = SN RN
I S () 1+sinx+c05xF BRI

Ans : @H\@j% ﬁ][@—%
Ejﬁ’?:
(1)—?J ¢t =sinx + cosx »
t =2 (—= Sinx +—= Ccosx)=+/2 (SinxC0s —+ cosxsin—)=+/2 sin(x +—
\/_(\/E x+\/E x)x/_(x4+x4)\/_(x+4)

V4 3r m T . Vs
Zex<s™ o Dot l <noo#F0<sinr+ ) <10t 0< <42
/R S i (rg)=l-
2_
(2)}[%’ t=sinx + cosx g1 1 o sinxcosy = L,
t* -1
-, sin x cos x t-1
l+sinx+cosx 1+t 2
. J2-1 : 1
Hr = ) T N {7 | Hr = ) T AN -
O =21 > f@F BRI 0 @i =0 f@F R -3
13 Rl
(1) sinl5° = o
(2) cos?Z + cos? 5 1 cos? 2F 4 cos? 1F. = o
8 8 8 8
(3) cos20°cos40°c0s80° = o
Ans:.(1)*/€_*/E (22 (3)1
4 8
EJ@[#?:
(1) sin15° = sin( 45° — 30°)= sin 45° cos 30° — cos 45° sin 30%@
1+cos” 1+cos?’—7r 1+0035—” 1+0057—”
()Fz¢ = 44 4 44 4
2 2 2 2
1 1 V4 3 7
==x4+=(coOS=+Cc0S—7 +COS—m +COS—r)
4 4 4
Ll

2 2 2 2 2
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(3) €0520° c0s40° cos80° = 2sin 20° cos 20° cos 40° cos 80°

2sin 20°
1sin80"00380° 1s.in160o
_ sin40°cos40°c0s80° 2 2 _sin20° 1
2sin 20° 2sin 20° 4sin20°  8sin20° 8
14. j;'[Z<9<££'sin2¢9=i » 1fksin@= °
4 2 5
2
Ans:. —
V5
Ejl_iﬁ :
Teo<EoT20<n s sin249:ﬂ2>00526:—§
4 2 2 5 5
sing=
15. F%Sin@—cosezg » H[Isin36+ cos30= °
Ans : 20
27
AT
i 4 L SBL 7T i 16 i 7
slné?—cose:E Pzt = 1—25m<9cos¢9=?:> smé’cosé?:—E

sin36+ cos34
= (3sin@— 4sin>6) + (4cos*d — 3cosb)
= 3(sinf@— cosé) — 4(sin*0—cos’0) <= a®—b°=(a—b)°+3ab(a-b)
=3 % — 4[(sin@— cosé)® + 3 sindcosd (sind — cosd)]

=4-4( % +3- __7ﬂ ) = 20
27 18 3 27
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